AGS 3: Unit 2 Review

Rewrite into logarithmic form.
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Rewrite into exponential form.
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Graph each logarithmic function.
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7. f(x)=3+log,(x—1) L
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8. Give the features of the graph in #7.
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Write the equation for each given graph.
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11.  Write the equation of .
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Rewrite and simplify each expression using properties of logarithms.
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Solve each equation.
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Solve each equation.
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No Calculator Part Given: log2 = 0.3

log3 = 0.5
log5 = 0.7

Using the values given to you and logarithm rules, calculate the value of each logarithm.
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